EARAROBEEIERT — 2 N— IBISH —F

2016527148 (B) 2EI=#R6H

itl SR 3 REEF

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | & (£) 18000 RE

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
JLA—TEILTS o3 ;Fg?(i)%i 1:(5_2).2 2-2-1-1 [38.7| 91.7 | 2 494 Eﬁﬁgﬁ (ER)
I INATA—H— BT F—N—=H L -4 798 T =1L
o o EUE: :53. -9-8- . . EREEE (EX)
EIFTI—X #H 3 L4l 1 (553)1 10-9-8-8 [38.3| 83.7 | 6 (4_43 i
LN—ErTv— BEIFT1TL BT 7 —L4
. & R . -3-4- EKEBFN (BER)
a4t %512%— [B] 3 e (12513/25> 2-3-4-4 |39.6| 81.1 | 4 <5_040) Ecpgi(
L7 RT—IVEY BiARAMU—F—1> BRT7—L
. e F. iz . —1-2- ZHET (EX)
HLavs k=i [B] 3 sl (11.533/.5 1-1-2-2 | 40.2| 79.0 | 3 (4_6‘3 ggﬂg%
LN—HNK B:hLiww =i BB
. 3 | JIIEER 1:53.9 4-4-3-2 | 40.1 | 78.1 | 1 506 | ARE (RR)
5/5(8|7F—%—TUTL (1/2) (o) |WER—
R:NTd BV T L HAS
s 4 3 | BAK 1:54.1 14-14-10-8 | 38.9 | 75.4 | 8 466 | IEILTEH (RR)
6l5/7| VITREFXLD 56.0 (1 1/2) -6 |ENE
LiXAvaIFLYY BYIRENS YIZXEL Ty — L
4 3 | MEEE 1:54.3 12-12-9-10 | 39.2 | 73.9 | 10 408 | BEEEZ (ER)
7 g | tTLET— 54. (11/4) gy | ) InTr—n
L:7RAXLTEL BNF/IATHZR INTr—L
. N SaEAEA . _4-F KIFHE (%)
8 3| AVI LA F— 43 e <)§‘;)3 4-4-5-6 | 40.1| 74.8 | 1 (4_6:) wea
R:TIRATLHE— B:ox—JIL—rj P RN )
N — AR :54. —6-5- . . AIESHE (EXR)
9 NPT ELP 3 AR (12514/27) 6-6-5-4 |40.5| 71.9 | 5 (4_728) m%%a
LT =TZAhA BT Y- e
LTS - 4t 3 | EDRE 1:55.1 10-9-7-6 | 40.6 | 68.8 | 7 428 | KEFEIL (FiH)
1018113 /fj)lf77 v 7 4.0 (2 1/2) 0 |EAEE
R:TTvIRA K BAAAFRE tE m|
DV ES 43 | NEHFHRK 1:56.9 9-9-10-11 | 41.6 | 56.1 | 12 450 | RBEE (EH)
1Mlzl1| A7V >77> 5.0 (%4 4%) o) |BlIEx
L:bh—t>TS4 08 B:b—tLIIUR BHRS# IXF477—L4
N NN BEHF : -7-13- FEEER (ER)
1ol 1ol #1vamnsry i 3 LR 1.(567).9 7-7-13-12 | 41.8 | 48.7 | 9 (4_822) ot
A3y Lyy B:A4Y39T7E-—L = re)
s PRz :58. -7-12- . . ki (EXR)
131814 YT 4 3 S 1(518)1 7-7-12-12 | 42.1| 47.9 | 14 :1_844) ‘(Z)iw
AR w4 —=T BV TEZX [N e
5 # 3 | REER :58.1 12-13-14-14| 41.8 | 47.2 | 13 | 422 |BE=EFA (XiH)
14 6| Ry FR-I 54.0 (hF) 4 | B INT7—L
L:Tw IRy N By LTF-TJL—7 if=sye]
@ 21 L
£y 51.7-38.7
NA> 24 L | 12.3-10.8-11.6-12.7-13.1-13.0-13.0-12.6-13.1
® I—F—@EBIERL
|S=7r= 10-(2,5) (3,8)-4(12,14)11(1,13)-(6,9)-7
Aol=5"= 10-2,5(3,8)-4-(12,14) (1,11,13)-9,6-7
3a0—F— (10,%2)8,5-(3,4)13-1,9(11,7)-14,12,6
41—F— 2(10,8) (5,4) (3,13)-(1,7)-9,11=(12,14)6
[ RN
-y 2 470 | | 71 K 1-2 950/ | | # = 1-2 4,510 | | 3:EE& 1-2-5 8,840M
# B 2 340H 2=l 560 B E 1-2 3,420 EE 2=1=& 50,270
1 810M 1-5 1,500H B H 2-1 5,910M
5 540H

ABICOVWTRDTEEERROODE. TR LIV,




